Q1. Three equal charges are dlstnbuted as shown The resultant electric field due to the two
charges (q = 1 nC) at the point p is:
+q Antlall AaSludl 40 5eSH 3 i) Aliana (), AL Anin ge A glutie Cla & EDE ]

Im 2 m

o
+q

1m

®
+q
A)428x10°N  B)9.34x10°N @3.22x10'9N D)7.66x10°N  E)1.10x10*}



W (a \r\‘“ b i yall Ay JPLA Vi I | e

2- The electric force acting on g; 1s:
Q q =3 ERC  =UWC

- —— =
3OCWA 200w
W\ %, Ny

A)+41N B){4.1N O)+49N D)= 49N
. ~ g p Akl e g S Jlnall (Rpataally Bl S 440 o
Q2- The vertical component of the electric field E,equan at the point p equals:
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Q3- The acceleration of an electron moving in an uniform electric field 2x10* N/C is:

A)11.4x10 " m/sec? B) 29.1x10™°m/sec’ @ 3.5x10"m/sec> D) 3.5x10" m/sec’
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Q1- The electric charge of 5x10 “" neutrons equals
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Q2- The resultant electric force due to two identical spherical bodies equals 22.5 N. If each
has an electric charge of 10 *, the separation of the charges 1s:
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Q3- The horizontal component of the resultant electric field at the point p equals:
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Q4- The net resultant electric field at the point p (Q3) equals:

A1 'B)3.36 | D) 5.5
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Q5- The angle (0) of the resultant electric field (Q3) with the x-axis is:

A) 303° ( @203"2 C) 256° D) 113°
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Q1- The electric charge of 20x10" electrons equals: - 1o

A8 B)52 C) 1.6x10"° D) 6.4x10 1
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Q2- The electric force between an electron and a proton separated by 3 nm is:
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Q3- The electric field (magnitude and direction) at the point a due to the charge g; is:
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Q4- The horizontal component of the electric field at the point a is:
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Q6- The magnitude of the resultant electric field at the point a (Q 4) is:

A) 700 B) 597. F'I C) 562.3 D) 440.1
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Q5- The angle of the resultant electric field at the point a (Q 4) with the x-axis is:
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Q7- If a particle of 5 nC is accelerated by 3000 m/s° due to an electric field o
the particle mass is:
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Q1- The total charge of Uranium ion of 92 protons, 147 neutrons, and 31 electrons is:

A)178¢ B)6e C) 325e D)6l
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The salt molecule consists of sodium ion of + 1e and chlorine ion of — le. If they are
separated by 0.564 nm, what is the cohesive force between them?

Q2-

C) 17x10'8 D) 21.3%10°
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Q3- The vertical component of the electric field E e at the point p equals:

Q4- The net resultant electric field at the point p

A)9 B) 18 D) 25.45
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i Lheangle (8) of the resultant electric field (Q3) is:
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Q6- What i © 4 nV/m oS i S Olae b g g s e be -6
at1s the acceleration of a proton in an electric field of 4 nV/m ?
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1- The charge of a group of electrons is -1 nC, the number of electrons is:

Q
A) 20 B) 1.6 x10° C)3.75 x10° I D) 6.25 x10°
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Q2- The electric force of two electrons separated by 20 nm is:

iA) 5.76 107 B)9.2x10’ C)11.76 x 10 D)8 x10"
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Q3- The resultant force acting on g2 equals:

A) 23x10° B) 13.66x10° “C) 14.75x109j D) 2x10° -
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Q4- The angle of the resultant force acting on g; (in Q3) relative to the x-axis equals:

A)83.4° 'B) 186.7TI C)97.6 D) 263.4p
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Q5- An electric field is acting on a charge of 4 nC by 15 uN. What is the magnitude of
the electric field?

” A) 3750' B) 232 C)3.75 D) 0.23
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Q6- The electric field at a point 1 km far from a point charge of 3 C equals:
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Q7- A particle of 10 mg and 1 nC is accelefated with 0.6 m/sec’ by an electric field.

What is the magnitude of the acting electric field?

A) 14000 I B) 6000 I C) 4000 D) 1000
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The total charge of the helium nucleus of two protons and two neutrons equals:

Ql-

-lel B) He| _ C) 2le| D) —4le|
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. Inthe figure, shown, F1 acts on the charge of 1 mC and F2 acts on the other one.
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dingly this means: |
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Fresultam q] — q2 = _200 mC
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Q4- The y-component of the resultant electric force exerted on g4 (Q3) equals:

A)22.3 x10° B) 20x10° C) 11.25x10° D) 9.8 x10°
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Q5- The resultant electric force exerted on g4 (Q3) equals:

A) 223 x108 B) 20x10° C) 11.25x10° D) 9.8 x10°
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Q6- The angle of the resultant electric force exerted on g4 with respect to the x-axis equals:

A1 BY1539° | C) 63.9° D)116.1°
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The charge of three protons, three electrons, and five neutrons is:
Ql-
= B) 1le| C) 2le| D) - lle|
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If the total force acting on g equals zero, the electric charge g3 equals:

Q- q; q, q,
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Q3- The resultant force acting on g3 equals:
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Q4- The angle of the resultant force acting on g3 (in Q3) relative to the x-axis equals:

N Byss) C) 24 D) 66
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chtfcl E:Z‘;-l?‘ic field is acting on a charge of 20 C by 10 N. What is the magnitude of the

B)2 C) 10 D) 30
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The angle of the electric field () at the point P equals:
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Q7- The x-component of the electric field (in Q6) equals:

2158 C) 0.95 D) 0.75
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Q8- A particle of 3 mg and 2 nC is accelerated with 0.6 m/sec’ by an electric field. What
is the magnitude of the acting electric field?

)36 B) 110 K,JD D) 4000
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A1- The total charge of 10 electrons, 10! neutrons, and 10" protons equals:

Ql- .
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Q- If the electric force acting on g is zero, the charge g3 equals:

q

:‘_f_,\.uﬁ p aaall aie 9_1_)@5“ Jaall (:\:\A_Aa.n.\\) Ay ;\.;S_)al\ B
Q3- The horizontal component of the electric field E,esuan at the point p equals:
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Q4- The net resultant electric field at the point p (Q3) equals:

A)175 B) 300 ) D) 150 ‘
| ST p il 5z (8) e ol e 2231 -5 0

Q- The.angle (6) of the resultant electric field (Q3)is:
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Q6- A neutron of initial speed 30000 m/s moves through a uniform electric field of 20 V/m for

ns, the final speed, then, is:
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Q3- The angle of the resultant force acting on the charge g ;qﬁals: s S5 -30m
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Q4-1f the electric field due to a point charge of 3 Cis 27 N/C, the distance irom

charge is:

| D) 1.12 mm
Nm B) 3 16 km C) 81 cm
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QUESTION 2: The distance (x) at which the electric field equals zero is:

4,= 54, 2
@.;:.;.._-..._@
x=2,| |
I=5m

A) 435m B)453m  ©)543m

QUESTION 3: The acceleration of the proton in the figure below is:

E =200 N/C
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C) 3.2x10 17 ¢ D)12x1029 m/s
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y The vertical component of the electric field E, .z at the point p equals:
Qr '
y
= q] E resultant
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Q4- The net resultant electric field at the point p (Q3) equals:

A4 B)O

e 1S.
05- The angle (0) of the resultant electric field (Q3) 1
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- A proton is accelerating due to 2

- Whati the speed after 30 nS? D) 600
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0l- The total charge of 10 ns and 10 '’ protons equals:

C) +0.016 D) -0.0144 -
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Q2- The repulsive force by two positive charges on each other is 100 N. If one charge is
ten times greater than the other, and the separation is 10 m, then the small charge, in_unit

of EC, 1s:
4)333.3
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B) +0.0144

A)- 0.016
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‘B)5.44 C) 17.33 D) 134.62
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x-component of the resultant electric force, exerted on ¢y, is:

q,=-9,=¢q; =10 pC

A)-0.086 B) +0.086 C)-0.023 D) + 0.023
‘ gt B ) qp Al e B pnaligilly Haa e A Hal 40

tric force, exerted on q; (in Q3), is:

Q4- The y-component of the Tesultant elec
A)-0.086 B) + 0.086 - (“iC) - 0.0%'._3//)

D) + 0.023
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Ql-Ifa group of electrons has an electric charge of -0.032 pC, their total number is:

AS B) 500000 )2 d D) 200000 )
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Q2- If the dlstance between an electron and a nucleus, containing 3 protons and two
neutrons 1s 10 pm then the resultant electric force in uN equals:

N5 B)23 ( 068 ) D) 11.5
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Q3- If the electnc field vanishes at the point g,  then the distance X equals:

X
q a¢‘.|3l*'f q
®' 4m ¢ Am =

A)5.6 | (i B) 6.45 D - O)11.18 D) 134




